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The observer and observee are the same in this method
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Introspection Method
Projective techniques
Psychodrama
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According to Elizabeth Hurlock the puberty period is

1.
2.
3.
4.

13/14 to 18 years age group
10/12 to 13/14 years age group
06 to 10/12 years age group
02 to 06 years age group
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13/14 3008 18 Do S8
10/12 S00é& 13/14 don S8
06 o0& 10/12 don SBX
02 3006 06 Hon SBH



According to the study of Seashore the number of words
formed in children by the age of 10 years approximately
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. 30,400
2. 34,400
3. 34,300
4. 33,400

In this period ‘Hero worship’ is high

1. Adolescence stage

2. Late childhood

3. Puberty period

4. Adulthood
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According to Kohlberg’s theory of moral development, at
this level, morality tend to be directed by ‘punishment and

reward’.

1 Pre - conventional level
2 Conventional level

3. Post - conventional level
4 Non - conventional level
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One of the following is related to Rationalisation

1. Selective forgetting or forced forgetting

2. Fulfilling the unsatisfied desire in day dreams

3. The grapes that are out of reach are sour

4. Anger towards mother — in — law transfers on to vessels
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‘A type of attitude that directs a person’s attention towards a
subject for an extended period’ is known as

1. Aptitude
2. Learning
3. Memory
4. Interest
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One of the following is not a factor / element mentioned in
Emotional intelligence by Golman

1. Self awareness
2. Self regulation
3. Self intelligence
4. Self motivation
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10.

“Culture is the main decider of intelligence”. This statement is
attributed to

1.
2.
3.
4.

L.L. Thurstone
Guilford
Howard Gardener

Spearman
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In this type of leadership, every decision is made by the leader,
and the role of group members is very limited

1.
2.
3.
4.

Authoritarian
Laissez - faire
Democratic

Social
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11.

12.

“Learning is relatively a permanent change in a behavioural
potentiality that occurs as a result of reinforced practice” this
definition is given by

1. Dececco & Crawford
2. Kimble

3. Gates

4. Smith
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When metals are heated they expand. Since iron is a metal, it
also expands when heated. The conceptual formula involved in
this is

1. General to specific

2. Specific to general

3. Exception

4 Discrimination
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A student completed his homework due to the fear of facing
punishment. Here the motivation is

1. Intrinsic motivation

2. Achievement motivation
3. Extrinsic motivation

4. Natural motivation
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‘The programmed learning’ is the outcome of
1 Classical conditioning

2 Operant conditioning

3. Insightful learning

4. Trial and Error method
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15.

16.

At this stage the typical learning curve becomes parallel to the
X - axis

1.

2
3.
4

Initial spurt
Stage of fluctuations
Plateau stage

Stage after plateau
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A student preserved the experimental material after conducting
the experiment. It belongs to this domain

1.
2.
3.
4.

Psychomotor domain
Cognitive domain
Affective domain

Social domain

25 DY (FETFBOSE0 (FETK BT HEFOTE.
38 ©ZI§OS SoKo

1.

2.
3.

SSDE 735&)&)"’95&§ SoKo
23S BoKo

=g

LR S0K0

JOWE JoXo



One of the following item does not have a significant effect on
student learning

1. Attention

2. Gender

3. Interests

4. Social status of peer group
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The ability to hear, interpret, understand and respond to
linguistic sound is known as

1. Auditory perception

2. Speech perception

3. Social world perception

4. Visual perception
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19.

20.

If a person who can write with his/her right hand can also
write with his/her left hand. The transfer of learning is

1.
2.
3.
4.

Positive
Negative
Zero

Bilateral
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Factor that enhances memory among the following is

1.
2.
3.
4.

Attention
Repression
Interference

Disuse
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21.

22.

“Central Bureau of Educational and Vocational Guidance” is
Located at

1. Bengaluru
2 New Delhi
3. Chennai

4 Hyderabad
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One of the following counselling is ‘problem centered’

1. Non - Directive
2. Eclectic
3. Directive
4. Self
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25.

The concept of “School Culture” was introduced by

1.
2.
3.
4.

Tailer
Rubin
Parkar
Willard Wallar
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A school that has classes of 6 to 8™ should work not less than
these number of days per year
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3.
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200
220
210
180

One of the following is not related to ‘Operating System
Software’
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1.
2.
3.
4.

Windows
M.S. Office
Linux

DOS



One of the following is related to ‘problem of reading’
1. Dyslexia

2. Dysgraphia

3. Dyscalculia

4. Dysphasia
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Constitutional amendment to include ‘education’ to the
Common list

RSSO AT EON :3635 oason BSTed

1 42
2. 35
3. 41
4 38



28.

29.

30.

As per NCF - 2005 the assessment that should be in
class one and two

1. Oral test
2. Written test
3. Reading
4. No tests
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The date of approval of RTE - 2009 by the President of India
RTE — 2009 & 2788 oo@d es380ds 88

1 26.8.2009
2. 20.8.2009
3. 15.8.2009
4 31.8.2009

As per NEP-2020, from the following year onwards the
qualification to become a teacher is 4 year B.Ed or 4 year
Integrated Teacher Education Programme (ITEP)
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l. 2025
2. 2030
3. 2032
4. 2035
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61.

62.

63.

When the Nazis came to power in Germany in 1933, Einstein
emigrated to the United States.

If someone has ‘emigrated’, they have:

1.

2.
3.
4

stayed
arrived
departed

remained

In 1991 she was presented with the Royal Philharmonic
Society’s prestigious soloist of the year Award.

Identify the antonym of ‘prestigious’ in the context of the

sentence:

1. extraordinary

2. beautiful

3. pleasant

4 obscure

The cake by my grandmother for the family
gathering.

Identify the best option that fits the blank.
1. has baked

2 was baked

3. bakes

4 had baked



Choose the prefix that means ‘across’ or ‘beyond’

1. inter -
2 trans -
3. anti -

4 auto -

The new policy just added fuel to the fire, making the
employees even more upset.

Choose the option that gives the meaning of ‘add fuel to the
fire’:

1. to help solve a problem

2 to start a fire.

3. to reduce anger.

4 to make a situation worse.

Can you look after the kids while I’'m out?

Identify what ‘look after’ means in the sentence above:
1. to ignore

2 to care for
3. to leave
4

to complain

If a dictionary entry for the word ‘synthesize’ is missing, the
word is to be placed between the guide words:

1. System and synergy

2 Synthesizer and symphony.
3. Symphony and synthesizer.
4

Systematic and synonym



Identify the sentence that correctly uses commas for direct
address:

1. Mark can you help me, with this?
2 Mark, can you help me with this?
3. Mark can you, help me with this?
4

Mark can you help, me with this?

Being sick, I went to the doctor.

Identify the transformation for the simple sentence into a
compound sentence:

1. I went to the doctor because I was sick.
2 I went to the doctor, and I was sick.

3. I was sick, so I went to the doctor.

4 I was sick, but I went to the doctor.

Identify the grammatically correct sentence:
1. It is smith’s and Peter’s car.

2 It is Smith and Peter’s car.

3. It is Smith and Peter car.
4

It is Smith and Peters’ car.

Choose the sentence that establishes social relationship.
1. Hi, how are you?

2 The capital of France is Paris.

3. She loves painting.
4

Finish your homework.



72.

73.

74.

75.

Identify the correct spelling of the word:

1.

2.
3.
4

Pnemonia
Pneumonia
Pneumnia

Pnemonya

She said, “I must leave now.”

Choose the correct indirect speech of the sentence:

1.

2
3.
4

If we let them know, they will be able to do something.

She said that she had to leave then.
She said that she must leave now.
She said that she must left then.
She said that she had to left now.

Choose the correct type of conditional sentence:

1.
2.
3.
4

Identify the term for a person who is strong advocate of their

Zero conditional
First conditional
Second conditional

Third conditional

country:

1. Secularist

2. Super patriot
3. Democrat

4 Globalist



76.

77.

78.

79.

Interrogative sentences use the ‘do’ verb to the
subject — verb agreement.

1.

2
3.
4

ignore
change
ensure

delay

Identify the statement that provides a fact:

1.
2.
3.
4

The team faced many challenges during the project.

Are you feeling okay?

Please hand me the remote.

The Earth revolves round the sun.
What a beautiful day!

they managed to deliver it on time.
Choose the linker that fits the blank.

1.

2.
3.
4

Consequently
Similarly
Hence

Despite

Identify the example where the definite article is used before a
proper noun only when it is qualified by an adjective.

1.

2.
3.
4

The lion is ferocious
The great Sivaji
The rose is beautiful

The goat was all skin and bones.



80.

81.

82.

83.

“You wear a helmet while riding a bike.”

Choose the modal verb to indicate necessity.

l. must
2 would
3. might
4 shall

Identify the sentence with the correct use of a coordinating
conjunction.

1. I want to go, so am tired.

2 I want to go, and am tired.
3. I want to go, or am tired.

4 I want to go, but I am tired.

Choose the sentence that correctly uses a preposition.
1. The cat is under the table.

2 The cat is the table under

3. The cat is under table

4 The cat is under of the table.

A notice should end with to provide a formal touch
and a point of contact for further communication.

Choose the best option that fits the blank.

1. a list of instructions

2 a brief summary of the notice.

3. a closing remark.

4 the name and designation of the issuer
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86.

87.

In the structure of a speech, the section where you introduce
the topic and outline what you will cover is called

Choose the best option.

1. conclusion
2 body

3. introduction
4 transition

Choose the sentence in the past perfect continuous tense.
1. She sang a song

2 They were playing football.

3. He had been studying before the exam started.

4

I will be waiting for you.

Choose the correct form of the verb “to go” in the simple past
tense.

l. g0

2 went

3. gone

4 going

You can invite ten people.

Choose the preposition that fits the blank.
1. in light of

2 in charge of
3. up to
4

in exchange for



88.

&9.

We waited mid night
Choose the option that fits the blank.
1. in front of

2. as soon as

3. prior to

4 up until

Reading the following passage.

Caste discrimination remains a social problem in India, with
marginalized communities facing prejudice and inequality.
Despite legal protections and affirmative action policies, social
and economic disparities persist. Efforts to promote social
justice and inclusion are ongoing, but deeply ingrained
attitudes and practices continue to challenge progress.

Identify the issue faced by marginalized communities in India:

1.

2.
3.
4

economic growth
excessive legal protection
over-enforcement policies

caste discrimination



90.

Reading the following passage.

Caste discrimination remains a social problem in India, with
marginalized communities facing prejudice and inequality.
Despite legal protections and affirmative action policies, social
and economic disparities persist. Efforts to promote social
justice and inclusion are ongoing, but deeply ingrained
attitudes and practices continue to challenge progress.

Efforts to address caste discrimination are hindered by
attitudes and practices.

Choose the option that fits the blank.
1. progressive

2 outdated
3. neutral
4

modern



91.

92.

Identify False statement

1.

Sl

In a polygon, the meeting point of a pair of sides is a
vertex.

The sides of the polygon are line segments.
Line segment is a part of a line.

A curve is said to be closed, if its ends are disjoined.
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4
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Roots of the quadratic equation 2x*—5x+3=0 are

2x*—5x+3=0 ;scAm;‘,bgcsea Sooeeren
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95.

Slope of the line joining two points (4,k) and (5,-2) is 6. Then
the value of k is

(4,K) $520055(5,-2) DotH9e Ko FH Bp Toen 6 ©wond
k dews

—4

-3

3

4

b=

Observe the following multiplication
AB
x3

CAB
The values of the letters A, B and C are

308 Koeaseor) 588803508,
AB

x3
CAB
A, B S08a5» C 95070 densen

1. A=3, B=5,C=0
2. A=3, B=0, C=1
3. A=0, B=5, C=1
4. A=5, B=0, C=1

Which of the following do not indicate the probability of an event?

$0BTVSE” B 28 S DY), HOLTIHER WrDOSEH?

L2
4

2. 1.75
15.3%
4. 0.999
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If a line intersects two concentric circles with centre O at
A, B, C, D respectively then

OZBo(gor Ko Bok & So(S ST &8 By Sv™
A,B,C, D o 58 90&oSyd

1 AB=CD

2. AB>CD

3. AB <CD

4 AB +CD=AD

The least number that must be added to 7380 to get a perfect
square is

POTY 50 SSEIS 73805 SUITOVS EID dogg

1. 14
2. 16
3. 18
4. 19

If 3> =2*’then x =

32x+1 _ 2x+3 6:9033559 x=
log3—-3log2
log2—-2log3
3log2—log3
log2—-2log3
log3—-3log?2
2log3—-log2
3log2—log3
2log3—-log2



99.

100.

101.

The value of

sin?15° +sin?75°

sin®15° +sin? 75°
tan® 60° + cot? 30°

—% (sec 35°.5in55°%) is

tan® 60° + cot® 30°

—% (sec 35°. sin550)®o§z)_ BAISVIN

1. 0
2. 1
-
R
3
Ascending order of i,§,l and > 1S
115 2 7
3 1 5 .
50y 00AR0 — o &Y es8%e (8500
1 1583
' 2’77511
, 3815
11527
;, 3158
11275
. 1358
2°'11°'7°5

If x4+i4:47 then x+l=

1
xt+— =47 ®ond x+—=

1
2.
3.
4

X X

1

X

o N D W



102. The area of the triangle formed by three points (0, 6), (4, 0)
and origin is (in sq. units)
$ooed Doty (0, 6), (4, 0) 8050 e DOLHHOD bc@&%
b JTego (56553 ardens’)

1. 10
2. 12
3. 14
4 16

103. The value of log,(sin60")+log,(cos60’) —log, (tan60°) is
log2(sin600)+log2(cos600)—105.32(tan600)<i>o§zr BISVIN
1. 0
2. -1
3. -2
4. -3

104. The volume of the sphere of radius 3.5c¢m is (in cm’)

(z‘ake T = 2}
7

3.5 0.0 FFo SOAS K¥0 B, WSH0ITe0

(55.20.2.08%) (7 :2—72 B8 S5o5w)

22
3

2. 22
3

3, 2
3

s 2



105. If a,B,y are zeroes of the polynomial 2x* —5x* —4x+8 then

2x° =5x7 —4x + 8 230N %5"5"5&13 a,B,y@OJJEse

l.

a+,8+;/=—2,a,8+,8y+ya=§, afly =—4
5

a+,8+;/=5, aff+ Py +ya=-2, aoffy =—4
-5

a+,B+}/=7,a,B+,B;/+ya:—4, afly =-2

a+pf+y=-2, a,B+,B;/+ya:_75, afly =4

106.  Which of the following is NOT TRUE

1.
2.

3.
4.
ela)
1
2.

Mode is not effected by extreme values.

Mean is influenced by the value of every observation in
the data.

Median is unaffected by extreme values.

Range is central tendency value.

FIS° Deg0 58

©0S§ IO BE PTOFEID (HLPABO .

S30¥0S°) (DO HOBOT0Y JewS B BKew
(@P2PIB0 HBol.

©0g JOTO B HGFHSIN (PLTIS0 .
5, 28 00D P Jens.



107. The length of diagonal of a square whose perimeter and area
are numerically equal is (in cm)

ROFEHTOIT DI ¢S ed, JFogHnes SOAS SET(R0
&Boo¥),. 80 T (0.0.05)

1. 42
2. A2
3.0

4 V3

108. Sum of first 100 whole numbers
300¢5¢3 100 Y 05°0 00

1. 5050
2. 5000
3. 4950
4. 4900

109. Curved surface area of a right circular cone with radius 3 cm
and height 4 cm is (in sq.cm)

FEPYO 3 0., I 4 0., T Ko (5 IHTES FowI
SESe PFego (5.00.0.08°)

Lo
7

, e
7

3. 5

. S



110. Chalk contains calcium, carbon and oxygen in the ratio of
10:3:12. In a stick of chalk if 4g of carbon presents then the
weight of the chalk is g (approximately)

R0g S08 S $°hA0, SY)S HBA esdyas 10:3:12
D)’ soeron. 2.8 g 50K S 4 (. SY)S &0& 8¢S

S0E) Y 7w, (RoSe8one)
1. 333
2. 30.3
3. 29.3
4. 28.3

111. The mean of p, %is q then the mean of pz,# is

D, %cﬂoﬁzf VKeD  q oS pz,% © E0F). DK
1. 4q°

2 q>+1

3. 2¢° +1

4 2¢° -1

112.  If a letter is selected from the word ‘COMPUTER’ randomly
then the probability of getting a vowel is
‘COMPUTER’ &3 &30 5550 808 arEyD)son a8

OET°R) ISP & VIO @) @6335 NI

.3
8
. 3
4
3. 2
8
4. L
2



113.

114.

A shop keeper bought 5 articles at ¥4 and sold 4 articles
at 5. The profit percentage is

28 HSREEE 5 SN0 WU WS 5,
4 509080 B STYPS eaib&ése, SRREIR L AR 1

1. 68i

4
2. 56+

4

0
4. 10
From the figure, ///mand ‘n’ is transversal n
line, then x+ Sy +z+3°= . A
(%), 9608° I//m 558050 ‘0’ = e |
@65@33 oS x + 5y +z+3°= /
30°

1. 123° - » il
2. 143°
3. 333°
4. 543°



115.

116.

‘Mathematics is the way in which man’s mind stabilizes in
rationalism’ is stated by

1. Aristotle

2. Compte

3. Pierce

4. Lock

IS0 SrSHD D) REHE Srgo Ae3so’ ed
Biao):émcio

1. @83;3&35

2. o

3. 2ad)

4. or§

Which one of the following specification does not belong to
the objective ‘Application’?

1.

2.
3.
4

Identifies relationships
Analyses
Suggests new methods

Generalises

2 (300 ¥)pEerod” WEFK oFgdS Bos

1.

2.

3.

DTS DOV KO
DAe B0

SPSS DEHOD PN
S AESEd DA



117.

118.

‘The learner uses the probability in his daily life’. This
belongs to the following academic standard.

l. Problem-solving
2 Reasoning-proof
3. Connection

4 Communication

gTgREE HOETSFEN S5 ASGEEIS0S” IIBTAYLE’
&30 Bs 808 Ay (H57°eT°A8 BoKo.

1. DRy FES

2. TR0 TH)E0 - ATHeIen BoEo
3. VOGS0

4. ;5§_§0Z3615c‘$o

Points to be noted while preparing the annual plan

a) School working days

b) Periods for conducting slip tests

C) Periods for conducting projects

TOE DEEO ErTPOBOTONPES KWOIE SODS ©oFen

a) BT DY I

b)  RDBZe AT STBS 28ADHE

(ep] e

) PBERY AHITHH SIS0 28A0E
a, b

1

2 a,b,c
3. b, c
4

a, c



119.

120.

b

The meaning of Greek word ‘Gradus
1. Grade

2. Step

3. Progress

4, Marks

reeiog®’ @3 (A% Do By, ©30
L. @&

2. ey

3. DEKS

4. S8 &0

Steps in problem solving method
A)  Identifying the problem

B)  Analyzing the problem

C) Sharing the problem

D)  Solving the problem
DB DO 8 HEBS” Fraen

A) DV Koo
B) 0305 D0uE0
C)  HBg® oD BASHEO
D)  RSdg FROSEO

1. AB,D
2 A, B,C
3. B,C,D
4. AC,D



121.

122.

123.

The resultant of action and reaction forces is [assume each
force as ‘F’]

B85, (RBBCY 2w SoEg HOS 200 [257 5 200 F’
9308 000 ]

1. 0

2. F
3. 2F
4. —2F

The ratio of CGS unit to SI unit of acceleration due to gravity

(g)is
oSy $5e3:9 (9) CGS (95576308, SI (PImedS e

1:9.8
9.8 :1

1
2
3. 1:100
4 100 : 1

If a ball of mass 500g is dropped from a height of 20m, its
kinetic energy just before it reaches the ground is
(take g = 10m/s?)

500 i (BS5078Ke 2.8 2008 202> & 086 DIk,
08 27 IHHIDPE o KBz Jeos
(g de035 10 /)

1. 10°J
2. 104
3. 0

4. 107



124. The walls of a hall built for music concerts should
1. Amplify sound

absorb sound

reflect sound

B wn

transmit sound

0o EI8 S 0Y0DT Hew Book) Kcen
L & 5)2 Basrd

5D §9e30 BE'O

(R Do°SFS0 Bohowd

W N

IR (DOBOITAT

125. A ray of light passes through an equilateral prism of refractive
index ~2. The angle of minimum deviation is
V2 38555 5850 SOAS 2.8 a0 HEE0 KHOT o8
(Pasredosi, ol R ASOS 5630 ey

l. 30°
2. 45°
3. 60°
4. 90°

126. 100 resistors each of value 1Q is connected in parallel.
The total resistances of the combination is

28 8.8 1Q 80 $OAS 100 A& o SIrossom
5023, HO 5o

. 100,
101

2. Lo
100

3. 1000

4. 990



127.

128.

The saturated hydrocarbon from the following

80d IS BosR TS TGS

1. C;H,4
2. CsHyy
3. C4H,4
4. C;Hg

Suitable method to separate ammonium chloride from the
mixture of sodium chloride and ammonium chloride is

1. Deposition

2. Distillation
3. Sublimation

4. Condensation

631050 §BE S8 F&ao §BE Fo o
&30 §BED I BAWOLD OHEFO DS

1. J5He0

2 BN

3. GBS0
4. (BdIS0



129. In tincture of iodine solution, the solvent is

1. Iodine

2. Water

3. Alcohol
4. Ammonia

630%5 OBrES @5"358’30656 \cssed

1. OBrES
2.

3. esozr:)‘sg
4 @Bf&:‘i)oﬁs"

130. In sodium chloride lattice, the number of chloride ions
surrounded to sodium ion is

DA 30 g:;aig éq)e%zs"aeﬁoefe 2.8 DESH0 985S Seay
OB &) §§i§ SATF HOPS

1. 1

B wn

4
6
8

131. The pure form of carbon is

1. Coal
2. Coke
3. Bitumen
4. Graphite
S Too), WSS S0
1L JodK
N
2. &%
3. §)éo:°§é’b5
4. @&



132.  Match the salt in SET-A with its use given in SET-B

A)
B)
C)
D)

SET-A
Bleaching powder
Baking soda
Washing soda

Plaster of paris

n o T

SET-B
Mild antiseptic
Making toys
Oxidizing agent

Removing hardness
of water

SET-A &° 35{2&8 038508 SET-B 8% o &d@rros”

2BDBT0k%.

SET-A
A)  dvoes z:irgo
B) So&de
C) an0A e
D)  >pb esd >8d

b=

AR, B-S, C-Q, D-P
A-P, BR, C-Q, D-S
AR, B-P, C-Q, D-S
A-R, B-P, C-S, D-Q

w0 T

SET-B
2O DoSRT
o Sasrd
@§Q§C5£%

58 5853
S OR0E



133. Identify the correct statement regarding the fish and its

movements

1. The head and middle portion of the fish are smaller than
the tail

2. Upward and downward movement of tail makes the

jerks and push the body forward

3. The forward movement of fish is helped by the fins of
the fail

4. Other fins on the fish body are meant for their self-
protection

T, T SEOEOH 102200 B/ >4 HrBosod.

L 35 Sl S0 HBAw HE§ erren &S grKo
508 DFHIr &oeran

2. &% Ko 23, 3085 S80S0 HE0HO YN
FB0rR) SwotH% Jepsood.

3. DN 500 8&50E0S° 2 SPESTD easmen
DGR TP,

4. T 50 &) 3BT Taswe P AHGH TEe %0
&Q30ESD.



134.

135

Match the following
A)  Areolar 1) Trachea and larynx

B)  Cartilage i) Below the skin and in between
internal organs

C) Ligament iii)  Around blood vessels and nerves
D)  Adipose iv)  Connects bone with bone
808 oA SBBBS0k.

A)  NeBrerd i) TONTHO O KT DI

B)  Soyherd i) 8830 30¢5 S8 385
eaoéoz)m@ ;53&55

C) DoBaogso iil)  sEI°Fo, & Sevo Boea

D) Q&S V) I0ED A30ES° Ssenyy (PBI0
A-iii, B-iv, C-ii, D-i

A-ii, B-i, C-iv, D-iii

A-ii, B-i, C-iii, D-iv

A-iii, B-i, C-iv, D-ii

b=

The non- communicable disease is
1. Tuberculosis

2. Common cold

3. Chicken pox

4. Minimeta

eaoéao;?g@ 5°08

1. S(esd

2. 2OO2
3. Qﬁé&&)?ﬁ&&
4. QAET



136.

137.

In Animal feed the ‘concentrates’ contains

1. High fibres and low proteins

2. High proteins and low fibres

3. No fibres and high proteins

4. Same quantities of proteins and fibres
DHITFOS” BOY mES Ho JorTeS” Gt

L Q%S HHRmrgres $H8cH S (FPedSen
()]
D)3 | DPBTen $H8GH S I HBETen
@

2
3. 5% DT 0GP HOHO WHY &rSen
4. VITSTooS HIBCTen 08A (FTen soera.

A Researcher crossed a pure breed of yellow seed pea plant
with a pure breed of green seed pea plant. The percentage of
yellow seed pea plants, he will get in F1 and F2 generations
respectively are

2.8 DB, o BHEY 2 DY IETO 3 I,
HEE HE D) IGTO 2073 J08) & Ho5Be0
B, @, F1 558050 F2 $0ros® ot $od) e
DT VKO PEL SEHT

1 75%, 25%
2 25%, 75%
3. 75%, 100%
4 100%, 75%



138. The incorrect combination from the following is

A)  Branchial respiration - Fish

B)  Pulmonary respiration - Insects
C)  Cutaneous respiratioin - Frog
D)  Tracheal respiration - Man

1. Aand B

2. B and D

3. Aand C

4. B and C

808 AS° $B BVOH2EI

A)  Sode oxor axdldaD - $H

B) 0 Fo@an - derseen
C) =6 305 FGRIEad - S

D) o0 ¥ %36@053 - SIPS P

1. A 30as0 B
2. B S08a0 D
3. A 30850 C
4. B 08 C



139. Assertion (A): The pulmonary vein carry oxygenated blood
Reason (R): Pulmonary vein carries blood from body parts

to heart.

Choose the correct answer

1.

2.
3.
4

A is correct; R is incorrect
A is incorrect; R is correct
A and R both are correct; R is correct explanation of A

A and R both are correct; R is not correct
explanation of A

(DEOS (A): YR DT e3:30zd DS T WEBR08.
585830(R): 990 Y ¥88 arKe $o0d O5Q) Kooas

3G I08.

TS VIS0 JODE B0k

1.

ol

A éézgo; R 6:9269550

A 6:9269550 ;R ééago

A 308050 RBo&r ééago; R, A § 33 58

A 35850 R3o&» D&0; R, A § 35BS ASTer 520



140. The correct statement from the following is

1.
2.

In dialysis machine filtration and reabsorptions occur.

In the process of dialysis blood is taken out from the vein,
cleaned and pumped back to the body through artery.

The dialyzing fluid has all components of as plasma of
blood.

In dialyzing fluid Nitrogenous waste materials are
absent.

808 FAS® VOB g0

1.

EOSTORR DOEB0S® SEIPS 508050 9SS
23805030,

EASTORT (PIEOHS” BT DY oY e 3),
B8 3D BOA $HY oo ¥BoF"E g Jeh.
§0HPab (e, 8508 FFS° Got e

BIOSOD Y &oeod.
§05Pab (5e0s” S(Gad Siren G0k,



141.

Match the following

1) Diencephalon

i) Cerebellum

iil)  Medulla oblongata
iv)  Cerebrum
2BDBT0k%.

1) Cszsdﬁsgo

i) 93030, 0

i) Sogrnpo

iv) 30,0

1. 1-b, 1i-c, iii-a, iv-d
2. i-d, ii-c, iii-a, iv-b
3. i-b, ii-d, iii-c, iv-a
4. i-d, ii-a, iii-c, iv-b

Sneezing and Vomiting
Reasoning and perception
Posture and equilibrium

Anger and pain

O30 3 0BA FP0H

ST IS $oB05w S
é;ﬁo@?g@ 08 Sokore 55OF
§%50 o805 2°¢



142. The correct statement about sexual reproduction in
flowering plants is

143.

1.

The male nuclei fuses with egg cell and forms
Endosperm.

The male nuclei fuses with secondary nuclei to form
Endosperm.

The male nuclei fuses with Synergid and forms
Endosperm.

The male nuclei fuses with Antipodal cells and forms
Endosperm.

90T I, 08" PoAY (HE5E)HS ¥020H0D HOFS

s°§§o
1.

DEDIToEEO (D80S Fod ©OKHTE)E0M
D),

DA BoEEo XA BoBEoS® Kod @oHTHYEOm
D)0,

DEHIZ0(BE0 DIJES® S LOHTF)SoH
D).

DWLISOSEO (POIEE Serod’ Fod $oHTH)E0m
D).

The trees suggested to plant along the sewage ponds are

1.

2.
3.
4

Neem
Subabul
Tamarind

Eucalyptus

S0HHAB BHPO J0d DOSEAS JTD0DS T e

1.

e N

3D
Qozrend
el
o‘535°§é)§35



144. The plants and animals in pachamarhi are similar to
A)  Lower Eastern ghats
B)  Upper Himalayan peaks
C)  Lower western ghats
D)  Vindhya Sathpura peaks

D05Y, AS8es a5 G0l I oo BoHYHed B
PO eoeran.

A) B3 SrEED
B) K3 SeSrech dporen
C)  BIHS DD ST

D) ooy, @%5530" BpTeen

1. B&C
2. A&D
3. A&B
4. C&D

145. This experiences are at the top of the Edgar dale cone of
experiences

1. Direct purposeful experiences
2. Verbal symbols
3. Visual symbols
4. Demonstrations

A6 BE wdTe JoPS® P wrKnoS” ot e
1. BEE DB eddgiares
CEAN DoZen

&Y% DoZen

Lo

@656_9503



146. This should not be done while doing physical science

experiment

1. Operate electrical appliances with dry hands.
2. Use good quality boiling test tubes for heating
3. Inhale evolved gases directly

4. Avoid parallox errors while taking reading

ARTEIS 63"053?66”@0 DB BOSSYE BOHLETEID
1. S DIehHos® 3@55 DOECOS) EIRTAOTO.

2. 38 B TreagdS OR0T D8 SPsm
GIBTR0TD.

3. DEEBS FCINPO I T3S ST6d.
4, BEOKIOSD SI°H DA0S5YED B S ren
K)cir&@owé).

147. While preparing a question paper for 40 marks in physics-
chemistry, the total marks to be allocated to the academic
standards — appreciation, biodiversity, application to daily life is

FAE-EFHS TG 40 S8 0% (HTYHE0
ErFOBOBLIPE PSS, B IS0, ISAIS
DIBTKO &R AT (HSTET O BET0BIOVS
0SB0 I8 &0

16

1.
2.
3.
4.



148.

149.

“Describing the process of fractional distillation process with
examples” — comes under this learning objective

1.
2.
3.
4.

Remembering
Understanding
Applying
Analyzing

“e5085 (eS80 &R (DB &rrrTed” I500SE0” -
SO Be @IFHT ©F10 (S0 TN0B.

1.

oW

238 @mﬁ%czo
a‘-_D

€ISITTTO
6:9?503033072560
Z)ﬁ?&oﬁcﬁo

“Curriculum means all the activities of the children that are
carried forward under the direction of the teachers” This
definition was given by

1.
2.
3.
4.

Crow & Crow
Cunningham
Peters

Spears

"G ERgEsD) DEEREEIS” TR0 SEFOD Ese BINee
o AT (PETVE” @ AKDODIL.

1.

2
3.
4

BTG
sQorm, ¥
gaeas\)
f’oo)oéo%



150. Incorrect statement regarding multipurpose laboratory

1.

4.

A laboratory measuring 47x25 feet is sufficient for
42 students.

Benches in the laboratory should be 6x2x2' feet in
size and capable of seating three persons.

It should have provision of shelves in the wall to keep
reagent bottles.

There is no need to have a store room attached to it.

2IT0F (PATES (FETKFTOL H020H0N DOSA 550

1.

42 35008 $w§%®§o 47x25 9000 Sodteny Ko
PBrKFe S0P 08.

BErETeS” G0t wgey x2x2%: eihKe Fodsos
S EENTAE Jenr &oed.

BAS" 82065 D@ PRSI KESS e
Jo7Yen &oGEd.

8L w2050 %5 870 &OGD)S ©SH0 Seso.



